is notWALT do long multiplication.   3 days of learning start at mild and become super confident before moving onto hot. Once you have done the worksheet move onto creating your own sums.  
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	I have rolled the die and got a Mild/hot/spicy number
	
	

	I have used one square per number
	
	

	I have used a ruler to draw my grid
	
	

	I have accurately used my times tables knowledge
	
	

	I have started to add from the right diagonal, adding my extra 1 into the diagonal in the left
	
	

	I have got my answer by writing the numbers left to right.
	
	

	How I feel about using the lattice method for long
multiplication is:
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36x27 =What?
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The traditional solution
atleft gives you the
sameresultasa
multiplication grid, an
altemate way to solve
math problems:

3.Fill out the rest. Use a zero fit's

less than 10,as with 3x 2= 6:

1.Setitup on a grid ike this:
3 6

4.Time to think diagonally. Add

each column,like 1+ 6+2 =9 cach column,

3 6

2.5ince 6x2 = 12,insert the
“12"inthe triangles like this:

5. Putting those together (0972
starting from the right.
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mild: 2 digit by 2 digit, Hot: 3 digit by 2 digit
‘Spicy: 4 digit by 2 digit




image3.png
Use lattice multiplication method to find the product in each problem.
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Use latice multiplication method tofind the product n each problem.

0 sexen ER

3 mexn 4 soxm

si0xes

5 msas 6 s





image5.png
Use lattice multiplication method to find the product n each problem.
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